Maths 2 – Problem Solving
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[bookmark: _GoBack]Now, design a range of shapes which each have an area of 24 squares. 
Remember to use squared paper to help you!





ANSWERS

     [image: ]     [image: ]

      [image: ]     [image: ]
image7.png
Rosie’s younger sister has taken
a bite of the chocolate bar.

: he chocolate bar was a large rectangle.

Can you work out how many small rectangles of
chocolate there were to start with?

There cannot be a definite known number of rectangles
because only one side of the rectangle is shown.

Can it be 42? Explain.

It cannot.
he number of chocolate rectangles is a multiple of 4 becaus
the height of the chocolate is 4 rectangles.

hat is the smallest possible number of rectangles?
32
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How many squares have not got any paint on?

Total squares = 9 x 7 = 63
Squares with paint = 15 + 9 = 24
39 squares
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Which has the largest area, the shaded area or the
unshaded area? Explain your answer.
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Complete the sentence for this shape.

The area of this shape is squares.

What strategy can you use to ensure you don’t
count a square twice?
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Rosie’s younger sister has taken
a bite of the chocolate bar.

The chocolate bar was a rectangle.

Can you work out how many small rectangles of
chocolate there were to start with?

Can it be 42? Explain.

What is the smallest possible number of rectangles?
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Which has the largest area, the shaded area or the
unshaded area? Explain your answer.

Shaded: 19 squares
Unshaded: 21 squares

Unshaded area has the largest area.
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Complete the sentence for this shape.

The area of this shape is _36_ squares.

What strategy can you use to ensure you don’t

count a sgbuare twice?
The shape can be divided into 3 sections. For each rectangle, get the
number of squares of the row and columns then multiply, then count the
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